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Post Learning:

Muttiplication « Division

Answer each sum:

Year 3 Times Tables answers

Post Learning Assessment

a) 3x7-= 21 g)
b) 3x8= 24 h)
c) 3x 4 -= 12 )]
d 3x2-= 6 J)
e) 3x3: 9 k)
f) 3x10=| 30 )

3 xb=

3x12-=

3x1 =

3x9

3x11

3x6=

X

Multiplication « Division

I feel

15

36

27

33

18




Post Learning:

Multiplication « Division

Answer each sum:

a)

4x1 =

4 x 8=

4 x2-=

4x5-=

4 x12 =

4 x 3=

20

48

12

9)

4 x4-=

4 x10 =

4 x 11

4x9 =

4x6 =

4 x7 =

I feel

16

40

44

36

24

28




Post Learning:

: I feel

Answer each sum:

a) 8x12=| o4 g 8 x3-= 24
b) 8x2-= 16 h) 8x10-= 80
c) 8x1l = 88 i) 8x7 = 56
d 8x6-= 48 j) 8x5 = 40
e) 8x4-= 32 k) 8x8-= 64
f) 8x9-= 72 ) 8x1-= 8




Post Learning:

Multiplication « Division

Answer each sum:

1) 4x1-=
2) 3x2-=
3) 8x 3 =
4) 8x9-=
5) 3x4-=
6) 4x8 =
7) 3x9 =
8) 8x10=
9) 5x3-=
10) 2x9-=
11) 8x12=
12) 5x10+=

13) 4x5-=

24

72

12

32

27

80

15

18

96

50

20

I feel
14) 8x11 = 88
15) 4x12 = 48
16) 4x7 = 28
17) 3 x11 = 33
18) 4 x4 = 16
19) 8x6+= 48
20) 3x1-= 3
21) 8 x8-= 64
22) 4x9-= 36
23) 3x12= 36
24) 5x12= 60
25) 4 x 11 = 44




